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Introduction
These exemplar answers have been chosen from the 
summer 2018 examination series.

OCR is open to a wide variety of approaches and all 
answers are considered on their merits. These exemplars, 
therefore, should not be seen as the only way to answer 
questions but do illustrate how the mark scheme has 
been applied.

Please always refer to the specification https://www.ocr.
org.uk/Images/170839-specification-accredited-a-level-
gce-economics-h460.pdf for full details of the assessment 
for this qualification. These exemplar answers should 
also be read in conjunction with the sample assessment 
materials and the June 2018 Examiners’ report or Report 
to Centres available from Interchange https://interchange.
ocr.org.uk/Home.mvc/Index

The question paper, mark scheme and any resource 
booklet(s) will be available on the OCR website from 
summer 2019. Until then, they are available on OCR 
Interchange (school exams officers will have a login for 
this and are able to set up teachers with specific logins – 
see the following link for further information http://www.
ocr.org.uk/administration/support-and-tools/interchange/
managing-user-accounts/).

It is important to note that approaches to question 
setting and marking will remain consistent. At the same 
time OCR reviews all its qualifications annually and may 
make small adjustments to improve the performance of 
its assessments. We will let you know of any substantive 
changes.

https://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
https://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
https://www.ocr.org.uk/Images/170839-specification-accredited-a-level-gce-economics-h460.pdf
https://interchange.ocr.org.uk/Home.mvc/Index
https://interchange.ocr.org.uk/Home.mvc/Index
http://www.ocr.org.uk/administration/support-and-tools/interchange/managing-user-accounts/
http://www.ocr.org.uk/administration/support-and-tools/interchange/managing-user-accounts/
http://www.ocr.org.uk/administration/support-and-tools/interchange/managing-user-accounts/
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SECTION A

Read the following stimulus material and answer all parts of Question 1 which follow in this section.

Who should pay for students to study at university?

The proportion of university education provided by the public sector and the private sector varies 
throughout the world. Most UK universities are generally considered to be in the public sector. 
In 2017, there were only five private sector universities in the country. The difference between 
public sector and private sector universities, however, is changing. This is the result of a shift in 
the funding of higher education, particularly in England. Universities are obtaining less of their 
income from government financed teaching grants and an increasing proportion from tuition fees. 
Fig. 1 shows how the amount of government spending on higher education has fallen in recent 
years.

Fig. 1 – Spending on higher education government grant
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Note: Figure for 2014–15 was a predicted figure. Figures are in real terms, adjusted for 
inflation using the GDP deflator.

Tuition fees were introduced in 1998 at a maximum of £1,000 a year. By 2017, these had risen 
to a maximum of £9,250 for UK and EU students studying in England. Most universities charge 
this maximum annual fee. In October 2017, the government announced that it was freezing 
tuition fees at £9,250 instead of increasing them in line with inflation and raising the student 
loan repayment threshold from £21,000 to £25,000. Most students would like the government to 
maintain the freeze for some time or even scrap tuition fees altogether.

Some A Level students do not gain the grades needed to take up university places. In other 
cases, however, it is tuition fees which discourage them from applying to university. These 
students are concerned about future debt levels and value for money. The average pay for 
university graduates is higher than that for non-graduates. Future earnings, however, vary 
according to the subject studied, university attended and job gained after graduation. Currently 
the highest earning post graduates tend to have been students of medicine, veterinary science, 
economics and engineering. While the lowest earners are found to be former students of English 
Literature, communication, agriculture and creative arts. A Level pupils are also aware that 
the learning experience varies between courses and universities, with some undergraduates 
complaining about lack of contact hours and high numbers of students in seminar groups.
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Fig.1 - Spending on higher education government grant has  
been removed due to third party copyright.
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While a limit on tuition fees may be welcome to many students, universities are concerned about 
the measure. They are worried that if they are not able to charge higher tuition fees and if they 
do not get more funding from the government, they will struggle to cover their costs. Universities’ 
operating costs vary with the number of students they teach. Fig. 2 shows a breakdown of the 
total cost of £31.2 billion incurred by UK universities in 2014–2015 when they were educating 
2.2 million students.

Fig. 2 – The composition of the total cost of UK universities 2014–2015
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The cost of providing degree courses varies between subjects and universities. It is, for example, 
more expensive to provide engineering courses than English Literature courses. The University 
of Cambridge, for instance, spends more per student than the University of Bedfordshire.

The amount spent on education for people above school age (tertiary education), includes 
spending on degree courses and vocational courses. Such education provides a range of 
benefits not only to those who undertake the courses but also to others. Tertiary education 
increases a country’s output and the productivity of its workers. UK universities are also creating 
an increasing number of spin-off companies which create new jobs.
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Fig. 3 shows how the proportion of people of two different age ranges who had completed tertiary 
education varied in selected countries in 2016, as well as average income in those countries.

Fig. 3 – The proportion of people who had completed tertiary education in selected 
countries in 2016

Country 25–34 year olds 
who completed 

tertiary education

55–64 year olds 
who completed 

tertiary education

Average income 
(GDP per head in 

US$) 2016

Canada 60.6 46.2 42 200

Germany 30.5 26.3 42 000

Japan 60.1 39.7 39 100

New Zealand 43.4 28.2 39 400

South Korea 70.0 19.7 27 600

United Kingdom 52.0 37.6 39 900

United States of 
America

47.5 41.9 57 500
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Question 1(a)

Exemplar 1	 2 marks

Page 6 of 22Print Script

Examiner commentary
The candidate was given both marks. One mark was given recognising that higher education is provided by the market (private 
sector) and 1 mark for reference to the tuition fee charged.

Exemplar 2	 1 mark

Page 6 of 26Print Script

Examiner commentary
The candidate was given only 1 of the 2 marks available. There was recognition that tuition fees are charged, but no recognition the 
characteristics of a private good or of provision by the private sector.

Exemplar 3	 0 marks

Page 6 of 22Print Script

[2]
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Examiner commentary
The reason for higher education being a private good (an increase in tuition fees) was not accepted as a valid response to the 
question.
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Question 1(b)

Exemplar 1	 3 marks

Page 6 of 26Print Script

Examiner commentary
Correct calculation using valid fixe costs and correct answer given.

Exemplar 2	 2 marks

Page 6 of 22Print Script

Examiner commentary
The answer given by the candidate was not correct and marks were given for an understanding of average cost and for the 
identification of a valid fixed cost implicit in the use of 98.6% in the calculation (interest and other overheads).

Exemplar 3	 1 mark

Page 6 of 22Print Script

[3]
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Examiner commentary
The answer given by the candidate was not correct but 1 mark was given for division of cost by the number of students to get an 
average cost.
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Question 1(c)(i)

Exemplar 1	 2 marks

Page 6 of 22Print Script

Examiner commentary
The candidate was given both marks – 1 mark for recognising the data did not support the expected relationship and 1 mark for 
valid use of the data for South Korea.

Examiner commentary
The candidate compared the data on completion of tertiary education by two age groups and did not answer the question set.

Exemplar 2	 0 marks

Page 6 of 22Print Script

[2]
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Question 1(c)(ii)

Exemplar 1	 3 marks

1/16/2019 Print Script

8/23

Examiner commentary
The candidate gains all 3 marks by: defining occupational mobility; identifying Germany and justifying the choice by reference to 
Germany having the lowest increase in the proportion of the workforce completing tertiary education.

Exemplar 2	 2 marks

Page 7 of 22Print Script

Examiner commentary
The candidate is given 2 marks: 1 mark for the definition of occupational mobility; 1 mark for the identification of Germany. There is 
reference to the ‘level of tertiary education’ and proportions completing tertiary education but not the change in the proportion of 
young people completing tertiary education.

[3]
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Exemplar 3	 1 mark

Page 7 of 22Print Script

Examiner commentary
Only 1 mark is given for this response. The candidate identifies Germany as the country experiencing the lowest increase in 
occupational mobility. However, the justification is not over time but between two different age groups at one point in time so no 
marks can be given for use of the data.
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Question 1(d)

Exemplar 1	 7 marks

Page 7 of 26Print Script

Page 8 of 26Print Script

[8]
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Page 19 of 26Print Script

Page 8 of 26Print Script

Page 20 of 26Print Script
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Examiner commentary
The candidate starts by explaining the negatives of freezing tuition fees. This is counted as evaluation and is judged to be Good 
because it is supported well by economic concepts throughout and recognises that a free on tuition fees could act like a maximum 
price. Analysis of the benefits then follows. There is some use of economic concepts and relevant application to the context so it 
also judged to be Good. It is not Strong analysis because there is little development of the points made. The final sentence contains 
judgement which lifts the evaluation to Strong. Knowledge and understanding of how and why governments intervene in markets 
is obviously Good and the candidate has shown the skills required for a mark towards the top of Level 2. With stronger analysis of the 
benefits of freezing tuition fees, this response could have gained full marks. 

Exemplar 2	 5 marks

Page 7 of 22Print Script

Page 8 of 22Print Script
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Page 8 of 22Print Script

Examiner commentary
This response is on the border line between Level 1 and Level 2, but has been given a mark at the bottom of Level 2 of the mark 
scheme. The analysis of the reasons for freezing tuition fees is given in paragraph 2 and is in context but wholly descriptive. For 
this reason it is judged to be Reasonable. Evaluation is given further in the answer and, whilst valid and in context, is again not 
supported by economic concepts so is also judged to be Reasonable. The candidate does show some knowledge an understanding 
of the reasons for price controls. The candidate shows all the skills for Level 1 of the mark scheme and offers more than Limited 
evaluation, so is given a mark at the bottom of Level 2. 

Exemplar 3	 2 marks

Page 7 of 22Print Script

Page 8 of 22Print Script
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Page 8 of 22Print Script

Examiner commentary
This response is Limited in its knowledge and understanding of how and why governments intervene in markets and in its analysis 
and evaluation of the reasons for freezing tuition fees. There is some Limited knowledge and understanding of the determination of 
wage rates at first and the impact of a reduction in the supply of skilled labour. However, there is a lack of clarity as to why this might 
arise from freezing tuition fees. Looking at the answer as a whole, credit is given for the idea that freezing tuition fees might reduce 
the number of people going to university (although it is not explained why this might be the case) and that higher graduate wages 
might also incentivise young people to apply to university. The response lacks a coherent explanation of cause and consequence 
throughout, but some Limited analysis and evaluation can be inferred from what the candidate writes. A mark towards the bottom 
of Level 1 has, therefore, been given for this response. 
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Question 1(e)

Exemplar 1 	 12 marks

Page 9 of 22Print Script

[12]

Page 10 of 22Print Script
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Page 10 of 22Print Script

Examiner commentary
The candidate received full marks for this response. The analysis of why higher tuition fees should be charged to medical students 
than English Literature students makes very effective use of marginal revenue product (MRP) theory and the perceived difference 
in the wage wages the two groups of students are able to command in the labour market. This is Strong analysis. A number of 
reasons are considered as evaluation of the case for charging higher tuition fees, with some use of economic concepts making the 
evaluation Good. The judgement at the end raises the quality of the evaluation to Strong. Overall, the candidate shows Strong 
knowledge and understanding throughout and is given a mark at the very top of Level 3 of the mark scheme. 

Exemplar 2	 7 marks

1/16/2019 Print Script

10/23
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1/16/2019 Print Script

10/23

1/16/2019 Print Script

11/23
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1/16/2019 Print Script

11/23

Examiner commentary
The first paragraph of this response provides Reasonable analysis of why medical students should be charged higher tuition 
fees than English Literature students. Although the point made is valid it is descriptive and needs to be supported by the use of 
economic concepts to be judged Good or Strong. The counter argument in paragraph 2 is again general and descriptive with 
some reference to economic concepts which could have been expanded on to support the point being made. Evaluation here 
is Reasonable as a consequence. Further points about inequality and the revenue for universities are given. These points do not 
enhance the quality of the analysis and evaluation as they are also considered in a descriptive manner. The final paragraph of the 
response is a summary of arguments which have been made previously and does not qualify as a judgement. Taking the response as 
a whole, knowledge and understanding is Reasonable to Good and analysis and evaluation are Reasonable which fits the criteria in 
Level 2 of the mark scheme and the default mid-mark of 7 has been given.

Exemplar 3	 3 marks

1/16/2019 Print Script

10/23
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1/16/2019 Print Script

10/23

1/16/2019 Print Script

11/23
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1/16/2019 Print Script

11/23

Examiner commentary
This response considers arguments in favour of charging medical students higher tuition fees than English Literature students and 
is, therefore, balanced. Taking the response as a whole the arguments on both sides a very descriptive and it is difficult to see any 
reference to the economic concepts which are relevant to the question. It is characterised by unsupported statements, many of 
which are tautological. There is a reference to ‘productivity’ in the middle of the response, but this is not part of a coherent chain of 
reasoning. The response as a whole, therefore, is Limited in knowledge and understanding of private and external costs and benefits 
and analysis and evaluation of the reasons for charging higher tuition fees to medical students. This response gained Level 1, 3 
marks.



Exemplar Candidate Work

25

A Level Economics

© OCR 2019

Question 2

Exemplar 1	 25 marks

Page 11 of 26Print Script

Page 12 of 26Print Script
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Page 12 of 26Print Script

Page 13 of 26Print Script
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Page 13 of 26Print Script

Page 14 of 26Print Script
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Page 14 of 26Print Script

Page 21 of 26Print Script

Examiner commentary
The first paragraph of this response shows Strong knowledge and understanding of why governments intervene in markets 
using buffer stock schemes. This is developed well in the next paragraph into an analysis of how buffer stocks work. The analysis is 
supported by a diagram which is very well integrated and goes on to consider not only how prices are stabilised but under what 
conditions they would need to be to correct market failure. Taken together, this is Strong analysis of the effectiveness of buffer 
stocks in reducing market failure. Evaluation of the effectiveness of buffer stocks becomes extremely well developed as the response 
continues. The conclusion contains a judgement linked to the socially optimum level of consumption which raises the previously 
Good evaluation to Strong. Taken as a whole, the candidate shows knowledge and understanding of how and why buffer stocks are 
used and analysis and evaluation of their effectiveness in reducing market failure at a high or Strong level. 
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Exemplar 2	 16 marks

Page 11 of 26Print Script

Page 12 of 26Print Script
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Page 13 of 26Print Script

Page 12 of 26Print Script

Page 14 of 26Print Script
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Page 14 of 26Print Script

Examiner commentary
The candidate shows a Good understanding of the context in which buffer stock schemes might be used and how they operate 
with upper and lower prices limits. Further in the response the candidate then goes on to analyse how buffer stocks operate to 
reduce price volatility. The diagram is crossed but not replaced, so it has been considered as part of the analysis. The diagram itself 
is a correct interpretation of when prices of agricultural commodities might fall below the lower price limit, although the candidate 
describes the supply curve as shifting ‘left’. Benefit of the doubt is given in this case and the analysis at offered is judged to be Good. 
It is not Strong because there has been no link to market failure as required by the question. Evaluation then follows. To begin with 
the evaluation consists of a series of points with modest development. However, the issue about the cost of storage shows much 
more development when it considers the implications of raising taxation. This lifts the evaluation from Reasonable to Good. There 
is a consideration of other policy responses to price volatility but no overall judgement on the effectiveness of buffer stock schemes. 
Taking the response as a whole, knowledge and understanding, analysis and evaluation are all Good. This more than meets the 
criteria for Level 2 of the mark scheme, so a mark at the bottom of Level 3 is given.
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Exemplar 3	 1 mark

1/16/2019 Print Script

12/23

1/16/2019 Print Script

13/23
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1/16/2019 Print Script

13/23

Examiner commentary
This is a response which is very Limited in all skills. In the first part of the response, the candidate does not have a correct 
understanding of buffer stock schemes and a general understanding of market failure only. This Limited knowledge and 
understanding is confirmed as the response continues in the description of the diagram. The overall impression is a lack of 
knowledge and understanding and an inability to correctly analyse how buffer stock schemes operate to reduce the volatility of 
prices. No evaluation is offered by the candidate. Limited knowledge and understanding, Limited analysis and No evaluation justify 
the mark given which is at the bottom of Level 1 of the mark scheme.
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Question 3

Exemplar 1	 25 marks

Page 11 of 22Print Script

Page 12 of 22Print Script
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Page 12 of 22Print Script

Page 13 of 22Print Script
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Page 14 of 22Print Script

Page 13 of 22Print Script

Page 19 of 22Print Script
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Page 19 of 22Print Script

Exemplar 2	 16 marks

1/16/2019 Print Script

12/23

Examiner commentary
The candidate shows a Good understanding of the market structure of monopoly in the opening paragraph. This is then extremely 
well developed into an analysis of the productive and allocative inefficiencies expected in such a market structure. The diagram 
is very well integrated and terms and concepts are used accurately. This shows both Strong knowledge and understanding and 
Strong analysis. The candidate begins to offer counter arguments and this evaluation builds to Good through consideration of a 
range of alternative firm objectives and potential dynamic efficiencies in the use of abnormal profit. A clear judgement is made. 
This is superbly developed by the consideration of efficiencies under conditions of natural monopoly. Taking the answer as a whole, 
knowledge and understanding, analysis an evaluation are all Strong and the top mark in Level 4 of the mark scheme was given.
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1/16/2019 Print Script

13/23

1/16/2019 Print Script

12/23
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1/16/2019 Print Script

14/23

1/16/2019 Print Script

13/23

Examiner commentary
The candidate addresses the question head-on from the start of the response by considering the productive and allocative 
inefficiencies of a monopoly market structure. The first diagram is not integrated into the analysis and there are inaccuracies 
apparent in the relationship between marginal cost and average cost. Allocative efficiency is could be better explained as P > MC 
rather than ‘price not intersecting MC’ and the second diagram is not integrated into the analysis at all. At this point in the response, 
analysis was judged to be Good rather than Strong for these reasons. 

Exemplar 3	 9 marks

1/16/2019 Print Script

12/23
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1/16/2019 Print Script

13/23

1/16/2019 Print Script

12/23
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1/16/2019 Print Script
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1/16/2019 Print Script

13/23

1/16/2019 Print Script

15/23
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1/16/2019 Print Script

15/23

Examiner commentary
The response begins with Good knowledge and understanding of a monopoly market structure, including an accurately drawn 
diagram showing abnormal profit. Rather than using this diagram to analyse the inefficiencies of monopoly, the candidate chooses 
to describe the conditions under which supernormal profit is made. There is no attempt to relate this to any of the different types of 
efficiency. It carries on to look at how supernormal profit may deliver dynamic efficiency, however. The response is a little confused 
and there is little development, so the analysis is judged to be Reasonable at this point. The crossed out material is not assessed 
and there is a maximum price diagram which does not seem to be relevant to the question. There is a paragraph that provides a 
consideration of how government intervention in the form of a maximum price might prevent the exploitation of consumers and 
this is judged to be Reasonable evaluation. The final paragraph is not relevant to the question. Overall, the structure of the response 
is not coherent but Good knowledge and understanding of aspects of a monopoly market structure and efficiency is apparent. 
Analysis and evaluation are both Reasonable. A mark towards the top of Level 2 of the mark scheme is given.
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Question 4

Exemplar 1	 25 marks

Page 15 of 22Print Script

Page 16 of 22Print Script
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Page 16 of 22Print Script
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Page 18 of 22Print Script

Page 20 of 22Print Script

Examiner commentary
The response begins with very clear knowledge and understanding of the characteristics of the market economy. The candidate 
does focus on the nature of resource allocation. This is developed, with the aid of a fully integrated diagram and in two separate 
paragraphs, into an analysis of how the market economy allocates resources optimally. This analysis is judged to be Strong. The 
candidate then offers evaluation of the way in which the market economy allocates resources by considering the under-provision 
of public goods and the over-provision of goods with negative externalities. The explanation is rich in terms and concepts and 
is supported by a fully integrated diagram. At this stage the evaluation is judged to be Good. A judgement about the need for 
government intervention to ensure a better allocation is made which raises the evaluation to Strong. Taken the response as whole, 
knowledge and understanding, analysis and evaluation are all Strong and the top mark in Level 5 of the mark scheme is given.

Exemplar 2	 19 marks

Page 15 of 22Print Script
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Page 18 of 22Print Script

Page 20 of 22Print Script

Examiner commentary
The candidate begins their response by defining what is meant by a market economy and shows knowledge and understanding of 
the operation of a market drawing a demand and supply diagram. This is then developed into an analysis of how markets allocate 
resources and reference is made to allocative efficiency, consumer preferences and competition. Because these terms and concepts 
are stated rather than fully explained the analysis is judged to be Reasonable rather than Good at this point. What follows is an 
attempt to explain the implications of consumer sovereignty for resource allocation and the maximisation of consumer utility which 
raises the analysis offered to Good. The candidate then turns to the issue of public goods as a counter argument. The characteristics 
are clearly explained and the evaluation is, therefore, Good. The candidate offers a diagram to support their consideration of the 
implications of negative externalities, but this is incorrectly labelled. The conclusion does not include a valid judgement. Taking the 
response as a whole, therefore, knowledge and understanding, analysis and evaluation are all Good and a mark towards the top of 
Level 4 is given.
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Exemplar 3	 9 marks

1/16/2019 Print Script

16/23

1/16/2019 Print Script

17/23
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1/16/2019 Print Script

19/23

Examiner commentary
The candidate begins with a simple definition of a market economy. The reasons offered as to why the market economy is a good 
way to allocate resources are, in the main, treated descriptively. However, the argument that a market economy would reduce costs 
and increase consumer surplus is, on its own, evidence of Reasonable analysis. The candidate chooses to look at the alternative 
to a market economy as evaluation rather than reasons why the market economy may not be the good way to allocate resources. 
Because of this, the evaluation offered is Reasonable rather than Good. Overall, the response does not consider the issue of resource 
allocation in depth and a mark towards the top of Level 2 is given.  
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Question 5

Exemplar 1	 25 marks

1/16/2019 Print Script
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1/16/2019 Print Script
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1/16/2019 Print Script
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1/16/2019 Print Script
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Examiner commentary
Correct definitions of income and cross price elasticity are offered at the start of the candidate’s response, showing Good knowledge 
and understanding. The candidate goes on to explain the implications for demand for a good with a positive income elasticity of 
demand of a fall income and how a reduction in price in this situation may be an appropriate response by firms. This is then counter-
balanced with an undeveloped point of evaluation. The implications of a positive cross elasticity of demand are then considered and 
related to the appropriateness of a reduction in price. Again, a single and undeveloped point of evaluation is offered as a counter 
balance. The evaluation becomes stronger as the importance of price elasticity of demand for pricing decisions is considered in 
detail. The response includes a judgement about the importance of the objectives of firms. Taking the response as a whole, this is 
a well-focused response to the question with Strong knowledge and understanding and analysis and evaluation which are both 
Strong. The top mark in Level 5 of the mark scheme is given.
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Examiner commentary
The candidate clearly understands the two elasticities and is able to analyse how the given values would justify a reduction in 
price. The analysis is straightforward but clear and focused and, therefore, considered to be Good for this question. Similarly the 
evaluation is also relatively straightforward but focused and developed. There is no judgement offered, however. Knowledge and 
understanding throughout the response is Good and analysis is Good rather than Strong. However, because the candidate offers 
more than Reasonable evaluation the response can be given a mark at the bottom of Level 4 of the mark scheme.
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Examiner commentary
The response begins with correct definitions of income and cross elasticity of demand. The second paragraph of the response shows 
incorrect analysis of the impact of rising incomes on the demand for a normal good. The analysis of the implications for price of a 
positive cross elasticity of demand is better, but still only Reasonable. Some of the evaluation offered is not relevant to the question 
and is, therefore, only Reasonable in its focus on the question. Taken as a whole, knowledge and understanding of the usefulness 
of and significance of the given elasticities is Good but the analysis and evaluation are not fully developed in the context of the 
question and are, therefore, both Reasonable. A mark at the top of Level 2 of the mark scheme is appropriate for this response.
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